N

5 .
%
o
fs;zn) &2

f

Nawa

89,3/ :/42 A 9" 2701 A4 Haand
T e s / 7/ A 77, Y YA
7 "' O CEPG

@Never give up. Great things take time%@

f Alharbi ’//%ff,_ 2 Lo 7

/

AN

/

4

ol




Total questions in exam: 26 | Answered: 0

Question No. 25

Simplify the expression: 13+ 8 = 2(8 — ?.2)

@ 29
' 3
33
27




i_ Total questio_né in exam: 25 | Answered: 0 e o, N

Question No. 22

Factor X2 —8x—20

(x + 1)(x - 20)
(x + 2)(x - 10)
(x —2)(x +10)
(x +2)(x+ 10)



i; Question No. 23

‘ LIS

!
Write z = 3(213—1) in the standard formz =a+bi

i

O z=9-6i

() z=-9-6i
) Z= 9+6i
() Z= -9+6i

Save & Next
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~ Question No. 24

The solution set of (x +5)2+10=5 1S

HeES
{ Si\.S}

(P

no real solutions

. ‘A_ L= &
e e

‘P



f;Total questions in exam: 25 —|Answerred: 0

Question No. 20

Select the correct property that describes the given equation. X + (y + 3) = x # (3+Y)

Inverse property of addition
Identity property of addition
Associative property of multiphcation

Commutative property of addition



' Total quesuonsvlh—exam: 25 | Answered: 0

Question No. 19

Suppose z is a real number. Evaluate the expression —3(x — 1)



| Total questions in exam: 26 | Answered: 0

Question No. 18

Solve A = P(1 + nr) forr

A—P

B g —
Pn
Pn

P o | m—

A-P
A
n

l)



. Total questions in exam: 25 | Answered: 0

Question No. 17

Thebaseof -5 p* is



Question No. 13

Which one of the following equations i1s a contradiction?

3(5x — 3) = 15x+ 19
2(x+8)+3x=x—16
5x- 4 =11

x. —4=0



Question No. 14

(2a~1b%c2)?
(3~ 1b)(271ac2)3

Perform the indicated operation

24b3c?

EIS

96bh°> ¢?

()(ll)('?



Question No. 15

. i g ‘ e .o OB a’+2ab+b?
Perform the indicated operations and Simplify. e :
* b—a a“+ab

a+b

a
—~a+b
a
a
a+b

Q

a+b
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Question No. 16

3 - " x+1 ]
The domain of 1S
(x43)(2x~3)

R\ {-3, 3)
RN (3 =)
R\ {~3, =)
R\ {-3)



Question No. 12

The solution set of the equation B(X-2)=2-X IS



Question No. 11

If A is any set then A U @ is equal to



' Question No. 9

Simplify and write in the standard form of a complex number
81
4 + 9i



’ Question No. 5

Simplify the expression by rationalizing the denominator: = E -
+

® 4—7
..2_\/"7
-2+ 7
—4 + /7

Save & Next

B R
-
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Question No. 6

Simplify the expression: —9 yo +( —9y)O ,y#0




Total questiorgih exam: 25 | Ans(wére&:_o_

Question No. 7

Using set notation, the elements belonging to the set: {x] x is a natural number less than 2} are

10}
19}
?

1)




Question No. 8

Factor 4m? — 12m+9

 (2m + 3)2
(2m—-T7)2m - 9)
(2m — 3)?

(2m —3)(2m + 3)



e

l Question No. 4

i
. Factor: (3u +5)2—l8(3u+5)+81

@ (Bu + 4)2
(3u+4)(3u—14)
(3u +14)(3u — 4)

(Bu — 4)°



Question No. 1

Which of the following equations has solutions a and b?

© 22— (a+ bz +ab=0
O 1’.2+(a.+b);1‘.—ab:0
O 22+ (a+blz+ab=0

N

2 —(a+blz—ab=0

Save & Next [ i o it i



Question No. 3

(5m+2)

25mH+20m+4
25m+4
Smi+4

S5mi+20m+ 4
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Question No. 2

B —— t———————

—

Ox=2 y
Q=8 vy
Q=9 vy

Il

Il

2
2
3
2

|
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Question No. 8

Fac
tor the [ml)'numli\l ' + 51 ’
>~ ) . 3
30 uom;.lvh'l\

‘ . '
r“ — 4MUr* + 9)
(r + N(xr* +9)

r— 2z + N r®
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Total questions in exam: 26 | Answered: 0

Question No. 25

Simplify the expression: 13+ 8 = 2(8 — ?.2)

@ 29
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i_ Total questio_né in exam: 25 | Answered: 0 e o, N

Question No. 22

Factor X2 —8x—20

(x + 1)(x - 20)
(x + 2)(x - 10)
(x —2)(x +10)
(x +2)(x+ 10)
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Questhon No 25

the equation 2x? + 13X~ 150 has

o "ll.' v(’

- Question No. 12



Total questions in exam: 26 | Answered: 0

Question No. 25

Simplify the expression: 13+ 8 = 2(8 — ?.2)

@ 29
' 3
33
27




Question No. 8

Factor 4m? — 12m+9

 (2m + 3)2
(2m—-T7)2m - 9)
(2m — 3)?

(2m —3)(2m + 3)



O (2x-y+3)2x+y-3
@ (ax-y-ayax+y+3)
9 (2x-y-3) 2% +y+3)
< (Ax -y +3)4ax +y - 3)



i_ Total questio_né in exam: 25 | Answered: 0 e o, N

Question No. 22

Factor X2 —8x—20

(x + 1)(x - 20)
(x + 2)(x - 10)
(x —2)(x +10)
(x +2)(x+ 10)



Question No. 13

Which one of the following equations i1s a contradiction?

3(5x — 3) = 15x+ 19
2(x+8)+3x=x—16
5x- 4 =11

x. —4=0



— :

“Total questions in exam: 25 | Answered: 0 Saii

Question No. 10

Solve: 2x* = x — 4

G +i/3D)
{§(1 +i\/31))
£ (-1+i/31))

€ (—1+i,/31))
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~ Question No. 24

The solution set of (x +5)2+10=5 1S

HeES
{ Si\.S}

(P

no real solutions

. ‘A_ L= &
e e

‘P
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Que’ oy U
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.\Hl\'lng the equation r~ + ax L == 10r &; Fives

{e—1=/a"32a-3}

{_'_'__\'_"-’ =2a+5
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0 f
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I'he solution set of the equation
o0

=
RS
) ]
1 -
sy
1 )
) |

(2x + 5)




Question No. 11

If A is any sct then A U @15 equal to




Question No. 13

Which one of the following equations i1s a contradiction?

3(5x — 3) = 15x+ 19
2(x+8)+3x=x—16
5x- 4 =11

x. —4=0



Question No. 14

(2a~1b%c2)?
(3~ 1b)(271ac2)3

Perform the indicated operation

24b3c?

EIS

96bh°> ¢?

()(ll)('?
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Total questions n exam' 25 | Answered 24

Question No, 21

Find this quotient






f;Total questions in exam: 25 —|Answerred: 0

Question No. 20

Select the correct property that describes the given equation. X + (y + 3) = x # (3+Y)

Inverse property of addition
Identity property of addition
Associative property of multiphcation

Commutative property of addition
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Total questons M exam 28 |Med

Question No. 1

6x 1 has

The equation Ox?

two nonreal complex roots

two rational roots
two irrational roots
one repeated rootl
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The solution set of the equation 82° = a4 for z, I
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Question No. 12

The solution set of the equation B(X-2)=2-X IS



.



| The soluion et of 2+ =0
*5={-]

f' S ={+i}

® 8={i+i)

®s={-1+1]}
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Question No. 14

(2a~1b%c %)%

(3-1b)2"tac™®)

Perform the indicated operation




(=) i)
(=) (=1)







[Tolal quesiions n exam: 25 | Answered 0

' Question No, 6

Determine the following union ¢ v {1,2} =

(1,2, ¢}
{1,2)
{1}

@

© © © ©



i e — —
Factorcompletely 49a’b b’

9 b(7a+bd)7a-
© (7a+b%)7a-b)







Question No. 12

TWH



MECL OES




Question No. 8

Factor 4m? — 12m+9

 (2m + 3)2
(2m—-T7)2m - 9)
(2m — 3)?

(2m —3)(2m + 3)
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Total questions n exam: 25 | Answered 24

Question No, 21

Find this quotient



i_ Question No. 28
2 = 2
Compute (abz + 1) (azbz — 2)

a2b 4+ a'/2pi/2 4 2ab*/2 2

a*’?b + a'/?b'/?2 4+ 2a*'/?pb 2

a>/2b 4+ al/Fpi/2 . 231/2p

r'v

a*/%b 4+ a'/“pi/* — 2ab1/? 2




mlb“dt\hmﬂlhm *13m - 1S) (m+* %)




s not a polynomial?







Question No. 12

The solution set of the equation B(X-2)=2-X IS









Total questions in exam: 25 | Answered: 0

Question No. 18

Solve A = P(1 + nr) forr

A-P
N | S—
Pn
Pn
Y S—
A—-P
A
' — =
n
P—-A

Pn






Total questions n exam 25 | Answered 1

Question No. 7

| z '
Factor completely: y" — 13y~

-

3

(" =4)(y" -9)

(Y +4)( v +9)

L) -“‘l ;'ll'\!x‘

-



Perform the indicated operation (Sx - 1ly)(2dx 7 y)

10x* -S7xy -77*
X ~dIxy +77y°
]()\: 13xyv 477 ¢*
]Ul: 3/Xx) e
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Question No. 1
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Question No. 12

Periorm this operation and expr

me i
v .
dme )

»
Ay



 If the equation az? — 6249 = 0 has one doubled (repeated) solution, then

Da=-36
a=36
a=-1

a=1
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Tolal questions in exam: 25 | Answered: 0

Question No. 2

4 2
. o a3x ba
Simplify —=°
(ab)3a
a(ab)s
a - bz
(ab)s

a (a*h)s



Per
¢
O
m
tl
i
b

F

:

pq)*

A

3
pq*

d
M')L
" |
al)
01
1S
3
p(y
Pe
l‘
)
1/3
V4
q(
p*
q)
i
/3

(
pq)‘




Question No. 3

The elements from A = {-8, —2,0.5,—,v25, V10, n,7} tha}‘} belong to the set

5

of rational numbers are

10

(-8, -2,0.5, ;,v’is',n,n

« (-8,-2,05, -‘»;3. [25)

10 =5

(-8,-2,05,~,V25,7)



[Tolal questions in exam 28 |Answered 7

Question No. 7

Simplify and write in the standard form of a complex number

V=36 +v25
s V11
5 —6i
5 — 361

5 + 6i




- Total questions in exam 28 | Answered 7

Question No. 8

The solution set of 4x° + 16x=0 s

{4.0)
(4.1)
{4 O

. d N




| Question No. 7

Simplify and write in the standard form of a complex number
V=36 +v25

» V11

@ 5-6i

@ 5 -36i
' 5461



Queston Ne. 2
Simplifying the power of i'*** gives

[

B
i




Total questions in exam 28 | Answered 7

Question No 8

The solution set of 4x° + 16x=0 s

-‘4 V)

(4. 1)

- v
. ‘. )




L, _9m*+50m

! Find this W m’-::‘ﬂﬁﬂo

" mE-18m+80
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| Find this quotient -

om 9m* 490m

<+
~18m4+80 m*-18me+B80




Question No. 19

Perform the indicated operation [(x- 2y)+7][(x—2y)- 7]

'

- =~ 2
X =2xy+4 y° -49
» 2
X +4xy+4y“—49
.x'° = 4.‘..‘. + 4 ‘-‘ _‘:,()

X" -4 Xy~ “: -49
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Ifoneaolnt.ionofz’-ax+c=0is2, then

@c=-3 ‘

@c=2 ‘.: — = .

- - .

Qc=-2 v/ :







| Question No. 7

Simplify and write in the standard form of a complex number
V=36 +v25

» V11

@ 5-6i

@ 5 -36i
' 5461



